a, =?
a, = —2,
ag = 6250,

Sg =7?

Urcete, ktera posloupnost
neni geom.:
a)-2,4,-8,16,-32,64
b)16,8,4,2,1,0
c)0,25;0,5;1;2;4;8

q =?
az = 16,
ag = 0,5,

az =7

| Kolik ¢isel je tfeba vloZit
: mezi ¢isla 3 a 375, aby
|

| Cisly a)2 b)
| 3 ¢)5

F——_—_———————

| |

| | q =4,

:4 9: ss = 1364,

I I aq =7

| |

]

| |

| |

U = =

s ol S8 2552 2,

I a3 =

| |

| |

F—r=========""

| |

I 1| a,=6250,

:6 11= q = -5,

I I 54_ :?

| |

—_—kr—
Iktera 2 geom. posloupnosti
neexistuje a) rostouci,

o>1 b)

c)klesajici g<0

|
|
| klesajici, a,<0
|
|
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